1000/c 2do)/d(m_1 + m_2) [1/GeV]

Ratio to CMS

7000 GeV pp Jets
§| T I T I T I I T | T I T I T I T I T | T I T I T I '§ ﬂ
— H<
- Trimmed Jet Mass (anti-k (0.7), 2600<p <800, |y|<2.5) . %
10° ==
— —
— N
- mlS]
—
10 - o
— ] E
- -z
- -
107t E ==
— M
— &
- m CMS Bk
102 &= --=-- Pythia 6.428 359 =3
— —A— Pythia 6.428 370 = 2
— Pythia 6.428 a 15
1073 &= --+-- Pythia 6.428 dw =t
~ —o— Pythia 6.428 p0 3c
— % Pythia 6.428 pro-g20 <8
— )
107 - EE
— — O
[ -] O
| T E
- B
2 —2
1
— ¥
0.5
l
0

(m_1+m_2)/2[GeV]



	Contents
	Page 1


